08-2016

‘ expanding experiences

PFW 6410 PFW 6810

.

EN  Mounting instructions IT  Istruzionidimontaggio  RU  UHcrpykuus no c6opke v ycraHoske RO Instructiuni de montaj
DE  Montageanleitung PT  Manual de montagem CZE Navod k montazi UK BkasiBKu Mo MoHTaxi

FR  Consignes d'installation EL  Odnyieg cuvappoyng SK  Névod na montaz BG  WHCTpyKUMM 32 MOHTaX
NL  Montagevoorschrift SV Montagefdreskrifter HU  Szerelési elGiras A REOHHAE

ES Insfruccionesdemontage  PL  Instrukcja montazu TR Montajk ilavuzu ZH  RERC B

s
e WA

ﬂ PFW 6410-6810 max. 75 kg / 165 lbs

JB/L N

~

Vs

( A (

e ( Y
- © ©®) ® ® © ® TILT POSITIONS o=s
6x Fischer 6x Screw 1x Allen key 2x key 8x Spacer 4x Washer
plug UX10 SW13 7x80 d12xd8,5x5 Din125 M8 o
I
% & ° '
4x Bolt 4x Bolt 4x Bolt 4x Bolt 4x Bolt 4x Bolt 4x Bolt 4x Bolt
/ M8x30 M8x16 M6x30 M6x12 M8x30 M8x16 Mé6x30 M6x12 I
P ~ @ & S ) < Q [
[% - ©
\
PFW 6410 I
t
S v 0o a0 65 o
PFW 6810
I
[
J . J

PAGE 1-2



X\Zzogel’s” | expanding experiences

) )
5 wo
SERVICE
POSITIONS
1
=~ REMOVE TV
J J

(GB) Subject to printing errors and technical amendments.

(NL) Drukfouten en technische wijzigingen voorbehouden.

(F) Sous réserve de fautes d'impression et de modifications techniques.

(D)  Fur Druckfehler Gbernehmen wir keine Verantwortung. Technische
Anderungen vorbehalten.

(E) Reservados errores de imprenta y sujete a modificationes.

() Conriserva di modifiche techniche e di eventueli errori di stampa.

(P) Reserva-se a ocorréncia de gralhas e de modificagdes técnicas.

(H) Nyomdahibdk és technikai valtoztatdsok joga fenntartva.

(PL)  Zastrzega sig St w ia bedow ich i zmian

(RUS) Bo3MOXHb! OLLMOKY MpK MEeYaT v TEXHUUECKUE MOANMDMKALIMM.

Designed and engineered in the Netherlands
More information on: www.vogels.com

VOGELS PRODUCTS BV, HONDSRUGLAAN 93, 5628 DB EINDHOVEN, THE NETHERLANDS

PAGE 2-2




